
PTE LISTENING PRACTICE PAPER 

FILL IN THE BLANKS 

Question: 1 

Transcript: 

 

Teamwork can also lead to inconsistency – a common cause of poor sales. In the case of a smartphone 

that a certain company launched, one director wanted to target the business market, and another 

demanded it was aimed at consumers. The company wanted both directors to be involved, so gave the 

product a consumer-friendly name, but marketed it to companies. The result was that it met the needs of 

neither group. It would have been better to let one director or the other have his way, not both. Now 

industriousness or hard work. It’s easy to mock people who say they work hard. 

Teamwork can also lead to ____________ – a common cause of poor sales. In the case of a 

smartphone that a certain company ___________ one director wanted to target the business market, 

and another demanded it was _____________ at consumers. The company wanted both directors to 

be ______________ so gave the product a consumer-friendly name, but marketed it to companies. 

The result was that it met the needs of neither group. It would have been better to let one director or 

the other have his way, not both. Now ___________________ or hard work. It’s easy 

to _________________ people who say they work hard. 

Question: 2 

Transcript: 

Carbon-rich soil is dark, crumbly and fertile, and retains some water. But erosion can occur if soil is dry, 

which is a likely effect if it contains inadequate amounts of carbon. Erosion is of course, bad for people 

trying to grow crops or breed animals on that terrain. In the 1970s and 80s, Lal was studying soils in 

Africa so devoid of organic matter that the ground had become extremely hard, like cement. There he met 

a pioneer in the study of global warming, who suggested that carbon from the soil had moved into the 

atmosphere. This is now looking increasingly likely. 

Carbon-rich soil is dark, ______________ and fertile, and retains some water. But erosion can occur 

if soil is dry, which is a likely effect if it contains __________________ amounts of carbon. Erosion 

is of course bad for people trying to grow crops or ______________animals on 

that _______________. In the 1970s and 80s, Lal was studying soils in Africa so _______________ 

of organic matter that the ground had become extremely hard, like cement. There he met 

a ___________________ in the study of global warming, who suggested that carbon from the soil 

had moved into the atmosphere. This is now looking _____________ likely. 

Question: 3 

Transcript: 



 

So the phone company designed phones for use globally with this added feature. Ethnographic research 

has also been carried out in computer companies. In one company, IT systems administrators were 

observed for several weeks. It was found that a large amount of their work involved communicating with 

colleagues in order to solve problems, but that they didn’t have a standard way of exchanging information 

from spreadsheets and so on. So the team came up with an idea for software that would help them to do 

this. 

So the phone company designed phones for use ______________ with this added 

feature. _________________ research has also been carried out in computer companies. In one 

company, IT systems ______________ were observed for several weeks. It was found that a large 

amount of their work involved communicating with __________________ in order to solve 

problems, but that they didn’t have a standard way of ___________________information 

from _______________ and so on. So the team came up with an idea for software that would help 

them to do this. 

Question: 4 

Transcript: 

 

So how was this reflected in the design of the building? Well, Harrison decided to create pedestrian 

access to the building and to make use of the presence of water on the site. As people approach the 

entrance, they, therefore, have to cross over a bridge. He wanted to give people a feeling of suspense as 

they see the building first from a distance, and then close-up, and the initial impression he wanted to 

create from the shape of the building as a whole was that of a box. 

So how was this reflected in the design of the building? Well, Harrison decided to 

create ___________ access to the building and to make use of the ___________ of water on the site. 

As people approach the ___________,  they therefore have to cross over a bridge. He wanted to give 

people a feeling of ___________ as they see the building first from a distance, and then close-up, and 

the initial ___________ he wanted to create from the shape of the building as a whole was that of a 

box. 

Question: 5 

Transcript: 

The main reason why MSG is more commonly used in Japanese meals is tradition. For many thousands 

of years, the Japanese have incorporated a type of seaweed known as Kombu in their cooking, as they 

discovered it had the ability to make food taste better. But it wasn’t until 1908 that the ingredient in 

Kombu which was responsible for the improvement in flavour was actually discovered to be glutamate by 

scientists working there. 



The main reason why MSG is more commonly used in Japanese meals is ___________ For many 

thousands of years, the Japanese have ___________ a type of ___________ known as Kombu in 

their cooking, as they discovered it had the ability to make food taste better. But it wasn’t until 1908 

that the ___________ in Kombu which was responsible for the ___________ in flavor was actually 

discovered to be ___________ by scientists working there. 

Question: 6 

Transcript: 

Living in the Antarctic hasn’t always been so comfortable. Snow build-ups caused enormous problems 

for four previous stations on the same site, which were buried and finally crushed by the weight. 

Fortunately, no-one was hurt, but these buildings became a huge challenge to architects who finally came 

up with a remarkable solution the buildings are placed on platforms which can be raised above the 

changing snow level on legs which are extendable. 

Living in the Antarctic hasn’t always been so comfortable. Snow build-ups caused ___________ 

problems for four ___________ stations on the same site, which were buried and 

finally ___________ by the weight. Fortunately, no-one was hurt, but these buildings became a 

huge ___________ to architects who finally came up with a remarkable solution the buildings are 

placed on ___________ which can be raised above the changing snow level on legs which 

are ___________. 

Question: 7 

Transcript: 

I’m left-handed myself and I actually didn’t see any relevance to my own life when I happened to start 

reading an article by a sports psychologist called Peter Matthews. He spent the first part of the article 

talking about handedness in music instead of sport, which I have to say almost put me off from reading 

further. But what I soon became struck by was the sheer volume of both observation and investigation he 

had done in many different sports and I felt persuaded that what he had to say would be of real interest. 

I’m left-handed myself and I actually didn’t see any ___________ to my own life when I happened 

to start reading an ___________ by a sports psychologist called Peter Matthews. He spent the first 

part of the article talking about ___________ in music instead of sport, which I have to say almost 

put me off from reading further. But what I soon became ___________ by was the ___________ 

volume of both observation and ___________ he had done in many different sports and I 

felt ___________ that what he had to say would be of real interest. 

Question: 8 

And many sufferers don’t know the cause or the solution to their problem. The majority of our patients at 

the clinic tend to be women. They are especially vulnerable because of pregnancy but also because of 

osteoporosis, which I personally believe to be the major cause of problems for women. I have many 



women patients who say they have completely given up exercise because the pain makes them so 

miserable. But of course, that starts up a vicious circle. 

And many sufferers don’t know the cause or the ___________ to their problem. The majority of our 

patients at the clinic ___________ to be women. They are especially ___________ because of 

pregnancy but also because of ___________ which I personally believe to be the major cause of 

problems for women. I have many women patients who say they have completely given up exercise 

because the pain makes them so ___________ But of course that starts up a ___________ circle. 

Question: 9 

What she was interested in was marine mammals things like seals And she found three places in the 

oceans which were hotpots, and what these had in common was that these hotspots were all located 

at boundaries between ocean currents, and this seems to be the sort of place that has lots of the 

plankton that some of these species feed on. So now people who want to protect the species that are 

endangered need to get as much information as possible. For example, there’s an international project 

called the Census of Marine Life. 

What she was interested in was marine ___________ things like ___________ And she found three 

places in the oceans which were hotpots, and what these had in common was that these hotpots were 

all located at ___________ between ocean currents, and this seems to be the sort of place that has 

lots of the ___________ that some of these species feed on. So now people who want to protect the 

species that are ___________ need to get as much information as possible. For example, there’s an 

international project called the Census of Marine Life. 

Question: 10 

The notion that you could create anything at all has major implications for our health. It means that 

we’ll eventually be able to replicate anything. This would have a phenomenal effect on our society. 

In time it could even lead to the eradication of famine through the introduction of machines that 

produce food to feed the hungry. 

The ___________ that you could create anything at all has major ___________ for our health. It 

means that we’ll ___________ be able to ___________ anything. This would have a ___________ 

effect on our society. In time it could even lead to the ___________ of famine through the 

introduction of machines that produce food to feed the hungry. 

 


